5th Grade Math
Week of May 4th-gth

Monday, May 4t"- Lesson 21 Volume of Rectangular Prisms

Tuesday, May 5%"- Lesson 22 Measures of Central Tendency and Range
Wednesday, May 6''- Lesson 23 Line Graphs and Double Bar Graphs
Thursday, May 7*"- American Math and Drops in the Bucket

Friday, May 8- American Math and Drops in the Bucket



Unit 3 e Lesson 21
Volume of Rectangular Prisms

To find the volume of a rectangular prism you can use the formula V = lwh, where / is
the length, w is the width, and h is the height. Volume is measured in cubic units.

Example 1
What is the volume of the fish tank?

Strategy Use the formula V = Iwh for the volume of a rectangular prism.

Substitute the values into the formula V = Iwh.
V=4Xx2X3

Multiply using the associative property.
V=4ft Xx2ft X3ft
=8 ft’ X 3ft
= 24 #*

Solution The volume of the fish tank is 24 cubic feet.

Another formula that you can use to find the volume of a rectangular prism is
V = Bh, where B is the area of the base and h is the height of the prism. No matter
which of the two formulas you use, the result will be the same.

188



. Losson 21: Volume of Rectangular Prisms

Example 2
A storage unit in the shape of a rectangular prism has a length of 12 feet, a width of
8 feet, and a height of 8 feet. What is the volume of the storage unit?

Strategy  Use the formula V = Bh for the volume 6f a rectangular prism.

Find the area of the base.
B=12Xx38
= 96 square feet
Multiply the area of the base times the height.
V =96 ft* x 8 ft
= 768 ft°

Solution  The volume of the storage unit is 768 cubic feet.

A cube is a rectangular prism with square faces. To find the volume of a cube, you
can use the formula V = e, where e is the length of each edge of the cube.

Example 3
What is the volume of this cube?

ST

N
\

5cm

Strategy = Use the formula for the volume of a cube.

Substitute the value into the formula
V=g
V=5cmX5cmX5cm

Multiply using the associative property.
V=25cm?®x 5cm
V =125 cm®

Solution The volume of the cube is 125 cubic centimeters.
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Example 4

What is the volume of this solid figure?

15 m

9 m 6 m

6m

21 m

Strategy  Separate the figure into rectangular prisms and find the volume of
each part.

Separate the figure into two rectangular prisms.

9m

6m

6m 6m
15m 6m

Find the volume or the larger prism.
V=15mX6mX9m
=90m’ X 9m
=810 m°
Find the volume of the smaller prism.
V=6mX6mX6m
=36m’ X 6m
=216 m’
Add the volumes.
810 m® + 216 m* = 1,026 m’

Solution  The volume of the figure is 1,026 cubic meters.
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Lesson 21: Volume of Rectang’ular Prisms P

rg’m__Guided Practice : —

This figure is made up of 1-foot cubes. -

What is the volume of the figure?

Separate the figure into 2 rectangular prisms, one on the left and one on the right.
Use the formula for finding the volume of a rectangular prism.

V= X X

Start with the prism on the left.

The length is feet. The width is feet.
The height is feet.

Substitute the values into the formula.

W = X X = cubic feet

The volume of the prism on the left is

Next find the volume of the prism on the right.

The length is feet. The width is feet.
The height is feet. '

Substitute the values into the formula.

V= X X = cubic feet

The volume of the prism on the right is cubic feet.

Add to find the total volume.

cubic feet + cubic feet = cubic feet

The volume of the figure is . J
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Choose the correct answer.

1. What is the volume of this rectangular 3. This figure is made up of 1-inch cubes.
prism?
4 cm What is the volume of the figure?
A. 10 cubic units
3cm
6 cm B. 14 cubic units
C. 18 cubi i
A. 36 cubic centimeters cublc units
D. 20 cubi i
B. 42 cubic centimeters SIDIE i
C. 54 cubic centimeters
_ . 4. A box has a volume 240 cubic inches.
D. 72 cubic centimeters The width is 6 inches and the height
of the box is 5 inches. What is the
length of the box?

2. The trunk in Gary’s garage is shaped
like a rectangular prism. It has a length A. 8 inches
of 3 feet, a width of 2 feet, and a )

40 inches

height of 3 feet. What is the volume of B
the trunk? C. 48 inches
D

A. 18 cubic feet . 210 inches

B. 15 cubic feet
C. 12 cubic feet
D. 8 cubic feet
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Lesson 21: Volume of Rectangular Prisms

5. This figure is made ﬁp of 1-inch cubes. 6. What is the volume of this cube?

|

I

I

|

I

—t————d
N

\

What is the volume of the figure? - 4 in.

A. 12 cubic inches 12 cubic inches
32 cubic inches

64 cubic inches

16 cubic inches

B
C. 28 cubic inches
D

o0

. 35 cubic inches 96 cubic inches

7. A rectangular prism and a cube are shown below.

7 cm

Y R P

6 cm e
8cm 7 cm

A. What is the volume of the rectangular prism? Show your work.

B. What is the volume of the cube? Show your work.
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Choose the correct answer.

1. Paul has two boxes. One is a cylinder
and has a volume of 280 cubic inches.
The other is a rectangular prism and
has a length of 9 inches, a width of
5 inches, and a height of 6 inches.

Which sentence is true?

A.

B.

The cylinder has a greater volume
by 10 cubic inches.

The cylinder has a greater volume
by 20 cubic inches.

The rectangular prism has a greater
volume by 10 cubic inches.

The rectangular prism has a greater
volume by 20 cubic inches.

2. How many 1l-inch cubes can fit inside
this rectangular prism?

5in.

o0 ¥ P

7 in.

9in.

80
105
108

. 315

3. What is the volume of the solid figure?

Z £ Z <

45 cubic units
36 cubic units

33 cubic units

c o>

24 cubic units

4. A desk drawer is a rectangular prism.

It has a volume of 3,528 cubic inches.
The base has an area of 252 square
inches. Which equation shows how
to find the height, in inches, 4, of the

desk drawer?

A, h+ 252+ 3,528
B. 3,528 +252 =1}
C. 3,528 X252 =}
D. /X 3,528 = 252
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. Lesson 21: Volume of Rectangular Prisms

5. How many 2-inch cubes can fit inside 6. A rectangular prism has the same
this rectangular prism? length and width. Its volume is
144 cubic inches and its height is
4 inches. What is the length of the
rectangular prism?
A. 36 inches
8 in.
" B. 12 inches
6in. C. 9 inches
10 in. D. 6 inches
A. 60 C. 120
B. 80 D. 240
7. A composite solid figure is shown.
8 ft
4 ft
5 ft
5 ft

10 ft

A. Explain how you can find the volume of the entire figure.

B. What is the volume of the figure? Show your work.
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Lesson 21 Answers

Lesson 21

Guided Practice

V=IxXxwxh

Thelength is 2 feet.

Tha width is 2 feet.

The height is 2 feet.

V=2 x 2% 2 =8 cuhic fast

The volume of the prism on the left is 8 cubic feet.
The length is 2 faol,

Ihe width is 4 feet.

The height is 2 fest.

Substitute the values into the farmula,

V=2 x4 x2 =16 cuhic foct

The volume of the prism on Lhe right is 16 cubic feat.
8 cubic fest + 16 cubic feel = 24 cubic faet

The velume of the figure is 24 cubic feet.

Lassan Practice Part 1

1. D
2. A
3 B

4. A

5B ©

8. C

7. A, 336 cubic centimeters; Possible work;

GemxGeom X fom=
48 o' X 7 om = 336 cm?®
. 343 cubic centimeters; Possible work:
Fom X 7om X 7om=
49 cm? X 7 cm = 343 cm?®

o

Lesson Practice Part 2

1. A
2. D
3. C
4. B
5 A
6. D
7. A Possible explanation: | can separate the figure

into two rectanguiar prisms. Cne is 10 feal

by 5 faet by 5 feet and the olher is 8 feet by

& feet by 4 [eet. | can find the volume of each

rectangular prisrm and then add the volumes,
B. 410 ft%; Possible work; 10 X 5 X 5 + 8 X A X

4=10x 25 + 40 x 4 = 250 + 160 = 410




Unit 4 e Lesson 22
Measures of Central Tendency and Range

You can describe a set of data in different ways. When a set of data is ordered from
least to greatest, the median is the middle number.

Example 1

Bradley listed the heights, in inches, of seven of his friends.
61, 60, 64, 60, 63, 62, 61

What is the median height of Bradley’s friends?

Strategy = Use the definition of median.

Order the heights from least to greatest.
60, 60, 61, 61, 62, 63, 64
%"awo?‘ Underline the middle number in that set of data.
o 60, 60, 61, 61, 62, 63, 64
61 is the middle number, so 61 is the median.

Solution The median height of Bradley’s friends is 61 inches.

The mode of a set of data is the number that appears most often in the data set. It is
possible for a set of data to have no mode, one mode, or more than one mode.

Example 2
The school cafeteria records the number of cartons of chocolate milk it sells each day.

The number of cartons of chocolate milk sold each day last week is shown below.
236, 242, 245, 227, 242

What is the mode number of cartons of chocolate milk sold last week?

Strategy  Use the definition of mode.

Underline the number that appears most often in the data set.
236, 242, 245, 227, 242

The number 242 occurs 2 times.
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The other numbers occur only once.

So, 242 is the mode.
Solution The mode number of cartons of chocolate milk sold last week is 242,

The mean, or average, describes the center, or balancing point, of a set of data. Think

- of the mean as the point on a number line where the data distribution is balanced.
This means that the sum of the distances from the mean of all the data points above

the mean is equal to the sum of the distances of al| the data points below the mean.

Example 3
Nancy asked ten classmates how many hours they spend on homework each week.
This line plot shows the results.

Number of Hours Spent on
Homework Each Week

X
1

N XX X
@ [ XX X

- X
4

o X X

What is the mean number of hours spent on homework?

Strategy  Calculate the mean.

Fr

Make a list of the data.
1,2,2,2,3,8,3,4,5,5

Find the sum of the data.
1+2+2+24+3+3+3+4+5+5=30

Divide the sum of the data by the number of pieces of data.
The sum of the data is 30. There are 10 pieces of data.
30 -10=3
The mean is 3.

Solution  The mean number of hours spent on homework is 3 hours.
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Example 4

Show that the mean in Example 3 is the balancing point of the data set.

Strategy  Find the distance each data point is from the mean. Then find the
sum of the distances on either side of the mean.

The data less than 3 are: 1, 2, 2, 2.

3-1=2
3~2=1
3-2=1
3-2=1

The total distanceis2 +1+1+1=25
The data greater than 3 are: 4, 5, 5.

5-3=2
5—3=2
4—3=1

The total distanceis2 +2 +1 =5

Solution Since the total distances are the same, the mean of 3 is confirmedv
as the balancing point of the data.

The range is the difference between the greatest data value and the least data value.

Example 5

Sal records the outside temperature each day for 7 days at noon. The temperatures
are shown below. '

32°F, 33°F, 38°F, 27°F, 35°F, 39°F, 45°F
What is the range in the temperatures?
Strategy  Subtract the lowest temperature from the highest temperature.

The lowest temperature is 27°F.
The highest temperature is 45°F.
45 — 27 =18

Solution  The range in the temperatures is 18°F.
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Lesson 22: Measures of Gentral Tendency and Range

What are the median, mode, mean, and range of the data below?
58, 63, 58, 92, 84

Find the median.

The median is the middle number in a data set.

Order the numbers from least to greatest.

3

The median is

Find the mode.

The mode is the number that occurs most often in the data set.

The mode is

Find the mean.
The mean is the average of the numbers in the data set.
Find the sum of the data. Then divide by the number of pieces of data.

+ + + + =

= hH =

The mean is
Find the range.

The range is the difference between the greatest number in the data set and the
least number.

The greatest number is . The least number is

The range is

The median is , the mode is , the mean is , and the
range is
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Choose the correct answer.

Use the information below for
questions 1-4.

The weights of 5 cats are shown below.

18, 10, 15, 10, 12

1. What is the mode of the data?

A. 10
B. 12
C. 18

D. There is no mode.

2. What is the median of the data?

A. 10
B. 12
C. 16
D. 18

3. What is the range of the data?
A6

B. 8
C. 18
D. 26

4., What is the mean of the data?

A, 10 C. 13
B. 12 D. 65

Use the information below for
questions 5-8.

The table shows the quiz scores of five

students.
. TestScores
Student  Score
_Anne 86
Ben = 92
Carson 78
 Dom | 84
Evan 95

5. What is the mode of the data?
A, 5

B. 78

C. 435

D

. There is no mode.

6. What is the median of the data?
A. 78 C. 86
B. 84 D. 95

7. What is the range of the data?
A. 17 C. 78
B. 19 D. 95

8. What is the mean of the data?
A, 82 C. 86
B. 84 D. 87
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_ Lesson 22: Measures of Central Tendency and Range

9. Marina says that the median and the mode of the data set below is 28.
32, 28, 16, 27, 38, 28, 23, 41, 10

Is Marina correct? Explain your answer.

10. The line plot shows the number of minutes that it took a group of students to run a lap
around a track.

Track Times (in minutes)

X X X X
7 8 9 10 11 12 13 14

A. What is the mean of the data in the line plot? Show your work.

B. Show that the mean you found in Part A is the balancing point of the data set.
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Choose the correct answer.

Use the information below for
questions 1-4.

The number of miles that Kurt cycles each
week for a 7-week period is shown below.

57, 54, 63, 64,70, 64, 55

1. What is the mode of the data?
A, 7

B. 63

C. 64

D

. There is no mode.

2. What is the median of the data?
A. 61
B. 63
C. 64
D. 70

3. What is the range of the data?
A, 7 C. 16
B. 10 D. 54

4, What is the mean of the data?

A. 54 C. 63
B. 61 D. 70

Use the information below for
questions 5-8.

The table shows the number of pounds of
vegetables a chef purchased at a farmers
market for his restaurant.

Farmers Market

’ Vegetable ' Number of Pounds
Kale 12
Onions .51
 Asparagus 27
Tomatoes 53
Potatoes 81 B
Cauliflower | 64

5. What is the mode of the data?

A. 48
B. 52
C. 69

D. There is no mode.

6. What is the median of the data?

A. 48
B. 52
C. 69
D. 81
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Lesson 22: Measures of Central Tendency and Range

7. What is the range of the data? 8. What is the mean of the data?

A. 12 C. 81 A. 48 C. 81
B. 69 D. 93 B. 52 D. 288

9. Giovanni says the median of the data set below is 14.
12, 14, 19, 18, 16, 14, 26

‘What error did Giovanni make? Explain.

10. The line plot shows the scores that the student in Ms. Noga’s Social Studies class
received on a test.

Grades on Social Studies Test

X
X X X
X X X X X X X X X

80 81 82 83 84 85 86 87 88 89 90 91 92 93 94 95

A. What is the range of the scores in the line. plot?

B. What is the mode of the scores in the line plot?

C. What is the median of the scores in the line plot?

D. What is the mean of the scores in the line plot? Show your work.
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Lesson 22 Answers

Lesson 22

Cuided Practico

What are the median, mode, mean, and range of the
rata bslow?

58, B3, 58, 92, 84

Find the median.

The median is the middle number in a data set.

Crder the numbers from leas! 1o groatest.

58, 58, 63, 84, 92

The median is 63.

Find the mode.

The mode is the number (hat occurs most often in the
data set.

lhe made is 58,

Find the mean.

The mean is the average of the numbears in the data
set.

FFind the sum of the data. Then divide by the number of
piecas of data.

58 + 58 + 63 + 84 + 92 = 355

355 -5 =T1
I he mean is 71.
Find the range.

The range is the difference between the greatest
numker in the data set and the leagt number.

The greales! number is 92.

The least number is 58.

92 - 58 - 34

The range is 34.

Tha median is 63, the mode is 58, the mean s 71, and
the range is 34.

Lasson Praciico Part 1

1, A
2. B
3 B
4, ©
5 D
8. C
P
a. 0
9. Yes, Marina is corract.; Possible explanatior: The

maode is the number that cocurs the most in a data
sel, In this set of data the number that coours the
most is 28, The meadian is the middle number in a
spl of data.
10, 16, 23, 27, 28, 28, 32, 38, 41
In this set of data the middle number is 28.

10, A 10; Possible work: 7 +8 8 - 10+ 11 +

12+ 14 =70, 70 + /=10

3. Possible work: The mean |ound in Part & is

0.

Mumbers less than 10:
10-7=3
10-8=2
10-8=2

2+212=7
Humbers greater than 10:

11 -10=1
12 -10=2
14 -10=4

1+24+4=7

[he sum of the distances on either side of the
maan, 10, is the same, so 10 is comlirmed as
the balancing paint of the data.




Lesson 22 Answers

Lasson Practics Part 2

1. ©C

2. B

3. C

4, B

5 D

8. B

7B

8. A

9. Possivle explanation: Giovanni used the mode,
14, which is the number thal cocurs the most in
the data set and not the median. The median is
the middle number in a data set.
12, 14,14, 16, 18, 19, 26
The middle number in this data set is 16.

10. A, 15
B. 80
. 84

D. 85; Possible work; 80 + 80 + 80 + &1 +
82 1 84 + B4 + 85+ 86 + 88 + 90 | 90 +
95 = 1,105, 1,105 = 13 = 85




Unlt 4 e | esson 23
Line Graphs and [ Qub!e Bar Graphs

A lme graph is used to show how data changes over time.

Example 1 |
The line graph shows the miles traveled in a car over a 5-hour trip. How many miles
did the car travel after 4 hours?

Miles Traveled over Time

300 ,
$ 250 .
Z 200 P
S 150 .

T 100 /
z |

Hours

Strategy  Use the scales on the horizontal and vertical axes.

Determine the intervals on the axes and what they represent.

In this line graph, the horizontal axis uses an interval of 1 for
the hours of travel. The vertical axis uses an interval of 50 for

miles driven.
Find the mark for 4 hours on the horizontal axis.
Look up to find the corresponding point on the line.
‘wwm Look left to find the number on the vertical axis that corresponds to that
point.
The number is 200.

Solution The car traveled 200 miles after 4 hours.

Q)

206



 lesson2a:Line Graphs and Double Bar Graphs

Segments of a line graph may rise, fall, or remain level. When the segment in a line
graph rises from one point to the next, the data is increasing. When the segment falls
from one point to the next, the data is decreasing. When the segment remains level,
the data remains the same.

Example 2
This line graph shows the number of students with a perfect attendance record at
Wilmore Middle School from September to January.

Perfect_Attendance

400

350 e
300 s

e

250
200
150
100

50

Number of Students

1

September  October ~ November December  January
Months

Between what two months did the number of students with perfect attendance
decrease the most?

Strategy Compare the segments of the line that are falling.

Find the segments that are falling.
The segments between September and October and between
October and November are falling.
This means that the number of students with perfect attendance |

decreased from September to November.

Compare the steepness of the segments that are falling.

The segment from September to October is steeper than the
segment from October to November.

This means that the change in the number of students with perfect
attendance is greater from September to October.

Solution  The greatest decrease in perfect attendance was between
September and October.
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You can make a line graph to show change over time.

Example 3
The table shows the amount of money that Jimmy saved each week from his paper
route. Make a line graph to represent the data.

How Much Jimmy Saved Each.Week

Week 1 o | 3 4 5
Money Saved | $50 $75 $50 $50 $25

Strategy Pick an interval. Then plot the data.

.

Pick an interval for the vertical axis that will make the line graph easy to
read.
All of the numbers are multiples of $5, so use $10 to keep the graph
from getting too large.

Make the outline of the graph and label the axes. The greatest amount
saved is $75, so number the vertical axis to $80. Also give the graph
a title.

Plot the point for each piece of data and connect the points with
line segments.

Solution How Much Jimmy Saved
‘ Each Week
$80 )\
NIV
£ $60
S $50
£ $40 \
=
é $30 \
E $20
$10
$0 4 > 3 4 5
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Lesson 23: Line Graphs and Double Bar Graphs_ S ;

Example 4
The graph shows the amount of rain that fell each day over a 5-day period.

Daily Rainfall

-

i

-t
PR

Rainfall (in inches)

Bl= D2 Nw o

Saturday = Sunday Monday  Tuesday Wednesday

On which days did it rain more than % inch?

Strategy  Use the scale on the vertical axis.

BREOE e 1

Sisll|  Find the line that represents 5 inch,

The line marked % on the vertical axis represents % inch of rainfall.
Sis 2 Find all of the points above that line.
Since we are asked to find the days on which it rained “more
than” % inch, the point must be above the line and cannot be on
the line.
The points for Saturday, Tuesday, and Wednesday show values

greater than %

Solution It rained more than % inch on Saturday, Tuesday, and Wednesday.

A double-bar graph displays two sets of related discrete data. A key tells you which
set of data each kind of bar represents.
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Example 5
The double-bar graph shows the snowfall in two cities during a four-month period.

Snowfall in City A and City B
I
Dec. R
|
@ AN e
£ I
= Feb. |
e | | ( 1 I City B

0 5 10 15 20
Snow (in centimeters)

In what month did City A receive exactly twice as much snowfall as City B?

Strategy  Use the key and compare the lengths of the bars.

LLook at the key.
The light colored bars represent the snowfall in City A.

The dark colored bars represent the snowfall in City B.

IStep i

‘Sice 2 Eliminate unreasonable choices.
- For February, the bar for City A is shorter than the bar for City B.
This means that City A received less snow than City B.
For January, the bar for City A is much less than twice as long as the
bar for City B.
This means that City A received much less than twice the amount of
snow that City B received.
January and February are unreasonable choices.
3‘340 Use the scale to find the snowfall in Cities A and B for December
and March.
December: City A received 10 cm of snow. City B received 4 cm of snow.
10 cm is not exactly 2 times as much as 4 cm.
March: City A received 10 cm of snow. City B received 5 cm of snow.

10 cm is 2 times as much as 5 cm.

Solution In March, City A received twice as much snowfall as City B.
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~ Lesson 23: Line Graphs and Double Bar Graphs

‘To make a double-bar graph, make a key and choose an interval that will make the
graph easy to read.

Example 6

In an election, four candidates ran for mayor. The table shows the numbers of votes
that each candidate received from men and women. Make a double-bar graph to
display the data.

‘Mz_a'yoral Ele_ction

Votes from Votes from |

| Candidatg Men Women

| Dowd 100 - 2580
Jimenez 200 | 175
i 1 T
Reynolds 250 J 125

Strategy = Make a key and choose an interval. Then label the axes and draw
the bars.

Choose an interval that will make the graph easy to read.
All of the numbers are multiples of 25, so use 25.

Make the outline of the graph and label the axes. Also give it a title.
l_abel the horizontal axis “Candidates,” and list each candidate’s
name along it.

Label the vertical axis “Number of Votes,” and number it from 0 to
275 in intervals of 25.

Title the graph “Mayoral Election.”

Make two sets of colored bars for each candidate. Make one for men
and another for women.

211



Make a key next to the graph that tells what each color bar represents.

Solution Mayoral Election

275
250
225
200
175
150
125
100

751

50—

25—

Number of Votes

| O Men
E Women

Dowd Jimenez Lee Reynolds
Candidates

Example 7
A botanist is testing a new fertilizer. The double-bar graph shows the growth of two
plants, one that was treated with the fertilizer and one that was not.

Plant Growth

2.75
2.50
2.25
2.00
1.75
1.50

1.05 |
1.00 | KEY

0.75 — .
B Fertilizer

0.50 |
0.25 —l ] No Fertilizer

1 week 2 weeks 3 weeks 4 weeks

Plant Height (in inches)

After 4 weeks, how much taller is the plant grown with fertilizer than without?

Strategy Use the key and find the lengths of the bars.
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Lesson 23: Line Graphs andilﬂ]gublé Bar Graphs

Find the height of each plant after 4 weeks.
Look at the bars for “4 weeks.”
The dark-colored bar represents the plant grown with the fertilizer,
and it shows a height of 2.25 inches. |
The light-colored bar represents the plant grown without the fertilizer,
and it shows a height of 1.50 inches. ‘

Subtract to find the difference.

Subtract the height of the plant g.rown without fertilizer, 1.50, from
the height of the plant grown with the fertilizer, 2.25.

112
225
—1.50
0.75

Solution  After 4 weeks, the plant grown with fertilizer is 0.75 inch taller than
the plant grown without fertilizer.
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The table below shows the numbers of books checked out of the library by
boys and girls in each fifth grade class in one school in January.

Books Checked Out in January

| Class  Checked Out by Boys Checked Out by Girls|
Ms. Stewart 16 22
Mr. Becker 24 | 18
Mrs. Ruiz 20 24

" Ms. Jones 14 J 28

Make a double-bar graph to display the data.

THINKING IT THROUGH
Give the graph a title.
Choose an interval that will make the graph easy to read.

The data are all multiples of 2, so a good interval for this data set is 4.

Label the axes.
Label the horizontal axis

Label the' vertical axis

How many different colored bars need to be drawn for each class?

Makea ___ next to the graph to tell what each color of bar represents.

Make your double-bar graph in the space below.
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e ,‘Lgsvsfon_ 23: Line Graphs and Double Bar Graphs

Choose the correct answer.

Use the line graph to answer Use the line grap'h to answer

questions 1 and 2. questions 3 and 4.
The graph shows the bus fares each year for The line graph shows the high temperature
Cheetah Bus Lines. for each day in a week.
- Bus Ticket Prices High Temperatures
$2.50 : o
$2.25 7 ?2
$2.00 = 76 /1 \| /\\
$1.75 £ 7 / y
8 $1.50 o 7o
= =1
a $1.25 £ 70
$1.00 @ \ /
- o 68
$0.75 £ 66 \/
‘ =
$0.50 - Y
$0.25 62
$0.00 _ 60
2004 2005 2006 2007 2008 2009 O%
Year Sun. Mon. Tue. Wed. Thur. Fri. Sat.
Days

1. Between which years did the cost of a .

bus ticket remain the same? 3. What is the difference between the
greatest high temperature and the
least high temperature?

A. 8°F C. 16°F
B. 14°F D. 18°F

A. 2004 and 2005
B. 2005 and 2006
C. 2006 and 2007
D. 2007 and 2008
4. Between which two days did the high

temperature decrease the most?

A. Sunday and Monday

B. Wednesday and Thursday
C. Thursday and Friday

D. Friday and Saturday

2. 'What was the greatest increase in the
price of a bus ticket between two years?

A. $0.25 C. $0.75
B. $0.50 D. $1.00
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5. Lana weighed her puppy, Rover, on the first day of each month. The graph shows
Rover’s weight for a 6-month period.

Rover’s Weight

44
40 -
36 :
;«g 32 A
c //
§ o8

o /
Q24 /4‘
c

£ 20 /
5 16

Sep. Oct. Nov. Dec. Jan. Feb. Mar.
Months

Use the graph. What is a good estimate of Rover’s weight on March 1?

6. Jonah is on the track team. The line graph shows his Jonah's Sprint Times

_—

100m sprint times over 5 weeks of training. B s
S 20,

. . . e . o]
Between which two weeks did his time improve the most? g Rt

$ 190 3

c N

=185 \

g 18.0

=175
17.0

2

0 1 2 38 4 5
Weeks
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. Lesson 23: Line Graphs and Double Bar Graphs

. Lesson Practice ¢ Part 2

Choose the correct answer.

Use the double-bar graph for Use the double-bar graph for
questions 1 and 2. questions 3 and 4.

The double-bar graph shows the favorite The graph shows the number of boys and
hobbies of students in the fifth grade. girls in each grade from third to sixth.
Favorite Hobby Student Population

30 76
72 B

Number of Students

Reading Cooking Collecting Sports
[:] Boys Hobby

2 O N

1. Which is the girls’ least favorite hobby? 12

[IBoys

reading 4 —| |Bairs

cooking 3rd 4th 5th 6th
Grades

A
B
C. collecting
D 3. Which grade has the fewest boys?

. sports
A. third
2. Which hobby is closest to being B. fourth
equally liked by boys and by girls? C. fifih
A. reading D. sixth

B. cooking
C. collecting
D

. Sports .
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4. Which statement about the fifth grade is true?

A. There are 4 more girls than boys in the fifth grade.
There are 12 more boys than girls in the fifth grade.
There are 4 fewer boys than girls in the fifth grade.

o0 W

There are 12 more girls than boys in the fifth grade.

5. The double-bar graph shows the number of votes that each candidate received for fifth-
grade president.

Votes for Fifth-Grade President
20
18
16

o
o

—
N

N Y O I

i
o

Number of Votes
(0]

EEREEEEEEEEE

O Pedro
E Summer

EEEREEEE

EENEN
" | [ ][] |

o N O~ O

1 2 3 -
Classes

A. Who won the election?

B. How many more votes did the winner receive?
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Lesson 23 Answers

Lesson 23

Quided Practice

Give the graph a litle. Books Checked Out in
January.,

Label the horizontal axis Class.

Lakel the vertical axis Number

of Books.

How many different colored bars need to be drawn for
each class? two

Make a key next to the graph to tell whal each color of
bar represents.

Graphs may vary, Possible graph:

Books Checked Qut in January

| ‘@ Boys
0 Cirs

Stewart Hecker  Hulz  Jones
Class

Lesson Practice Part 1

1. D

2. C

3. C

4. A

5. Answers may vary, Possible estimate: 38 pounds
6. betwesn weeks 2 & 4
Lesson Practice Parl 2
1. C

2.8

3. C

4, D

o, A Pedro

BE. & more votes
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DROPS IN THE BUCKET - MATH LEVEL E NUMBER 28

NAME Nultsga. SCORE
40=__ X___ 63+7= 11-6=
10=___ X___ 40+8 = 12-6=
2=___ %___ 4+2=  17-8=
59.493 seconds 212°F 3 yards 6 inches
58.361 seconds - 16°F X7 43)$98.04

+ 60.005 seconds

Color and write five hundredths
as a decimal and fraction.

Reduce this Compare.
improper fraction. Use >, <, or =.

9
5

Beth created this design to cover a rip in her
jacket. It took half-an-hour to plan the design
) and two-and-a-quarter hours to cut and sew
the fabric to the jacket. How much time did it-
take Beth to save her favorite jacket?

3

ol = |

-1

ool oo
ol Slo
gil= oin

The three kinds of angles are acute, obtuse, and
In the parallelogram, Aand C are angles.
In the parallelogram, B and D are angles.
Right are formed by perpendicular lines.

B

Find the perimeter. How long is a side of this Find the volume.
square pool if the area is
36 square meters?

Give the length in centimeters and millimeters. -

HHHHHHHHHHHHHHHHHHH”HHHH”HHHH”HHHHHHHHH”HHHHHHHHHHHHHHHHHHH
cm 1 2 3 4 5 6 7 8 9 0 11

qHHHH”HHthHHHHI
12 13 14
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P

R S R T R T

. REER

A) Harvey shipped 3
packages that had a total -
mass of 10 kg. If the 1% and
2" packages had a combined
mass of 5.5 kg, what was the
mass of the 3" package?

wﬂow. &
bt |
e \Aw
- !
o’

B) The utility company
charges Mr. Yuan $59.95 each
month for electricity. About
how much money ddes the
company charge him each /"

ear? 2T A
Y ,.m.m \o\\.ﬁhx N

Find the volume of the cube. Complete the factor tree of 24. Then
Wv write the prime factorization.
2 24
£ 7 4 ® 6 .
| S ] e )
/.\ _)_)_ s.t.w \VHM o, ﬁ..w»ﬁ“ ‘\« \- WM“ «‘..
<—9m > & i el
Y Y o D)
=y A A X .,
Volume= 729 meters? e
[— ]
Change each mixed number to an improper fraction. N
1 7 1 g
3—F = = T o 2 e
2 B 2 "L
1 ) 1 £} o
9 o H\Wﬂw\..\ \_Nlm = 4
A -

C) Alexia made a game
spinner.

If she spins the spinner 100
times, about how many times
is the spinner likely to point to
1?1 -
the trapezoid? 2B 6

iU

i tm. m-kn\\w\.w

o
R

woysaf)-wwIefyIey £002 @

v i e I e A R AL

10,

)
S
FERET]

x10 = g
1895 _—s 2. 975

x\_O o 1%«
23,70 — AL 0 1

TR o

x10 - .
500.0 ——s £02,

=]

High Temperatures Last Week
74° —&

7 N
720 \\ \Muaﬂnw \JMWI
uo/’\ N
.\\
g
5

On which day was the
temperature wéo in Boston?

-1 M n\\af\
in o1 A ALK
| h ahsLdy

How much warmer was it in
Zm<< York than Boston on

N iday? .,
< H/ Friday” A_L,m

70°

[e] o
nm 68 3 = - = How much warmer was it in
7 S 5 @ 2 = Boston on Tuesday than
N ® = % Monday? -,

New York &———  Boston @----- ® 2

A) Tamira can J\vm 40 words B) Carlos wrote the factors-of

12 and Miranda wrote the
Eoﬁo_,m of 16. What is the
greatest common factor of 12

per minute. At this rate, how

many words can she type in mlw..

. 6?7 of
minutes? w@m \\PL and 1 g \N
) 7 % ,Am
4
< . /75
B
/e
C) Aaron wrote 5 decimal
numbers. / w,\ 9
List the numbers in order from idio sl ot
. S
least to greatest. < 0.320 1.320
0.235,8.220 0222 11420 [.320
K.a..w/kwx\ A B u‘\ - ..y g P.\

~WICITI 7002 O

oy sapy



DROPS IN THE BUCKET - MATH LEVEL E NUMBER 28
NAME W pn SCORE

::30\,;"\ 0=-% x B 63:7= 0 1-6=5 1+ %
“_\pé‘;ﬁ- 10=2.x 5 40+:8=5H 12-6=(¢ o 93

G-5=g 2=8 x4 4+2=2, 17-8=C

) 0 - > i~ '
59.493 seconds '27’2°F S 3 yards 6 inches 43 202! Q‘?Q) |'s &q
58.361 seconds -16°F Vg G X7 %43 $<§)%04 N\ ’ .
+ 60.005 seconds ) Vo - e l

1"
Color and write five hundredths  § &l

‘What is the‘average price
as a decimal and fraction.

i
%2,

£ 2 of the five plants we bought?

i ]
Nt ; . @5
1 [ _— -7 7
00 u
Reduce this Compare. 70
improper fraction. Use >, <, or =. sc} (,
2

8- 3B

Beth created this design to cover a rip in her
jacket. It took half-an-hour to plan the design
and two-and-a-quarter hours to cut and sew

the fabric to the jacket. How much time did it - L'Ql 5 /)7). /-2 6(4

take Beth to save her favorite jacket? 105 M “) !3 6
9 2 Tl i
10 |y 35 3 I 2.
QQLQ 2 1 3.3 '
+ 50O -135 +438 R
L 1S - }..5_'— L. “'"] g
2. 10~ "0 5 % ,
The three kinds of angles are acute, obtuse, and \CYst )
In the parallelogram, A and C are LO ps an‘éﬂes.o]d\quQ D -—&-
In the parallelogram, B and D are (é: %n&x{ﬁ" angleé
Right _OuNQlleS  are formed by pefpendicular lines. B4
Find the perimeter. How long is a side of this Find the volume.
= &) jRauare pool if the area is
2,0.% 36 square meters? -

A 4 (L 2lo=3y 4m

0+ 2

Fe > 2] W B
Give the length in centimeters and millimeters. Oom ' '

ive the length i ¥’ 15 3355 or 155imw~\ ! /35

: oy

Illll_lillll|lll|]llll /551\0
14 ; i

13

WA T A W AR At A A L
[ﬂ 6 7 8 9 10 11 12

cm 1 2 3 4 5
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DROPS IN THE BUCKET - MATH EJE« VEL B NUMBER 2¢
- NAME &wmz

e A A e T b T A S AT G o A 20 LAV AN DD 05 T A D £ 15T R AA" 201 BT 3 AR S e B

' SOZ_X 24 -6 = 4 4 8 =
54=__ x___ 4+4= 6+3=
21:*)(__‘ 49+7.‘: 5+7=
35.5 miles 65,000 $82.59
87.9 miles - 7,301 X 45 78)9142

+ 76.2 miles

What is the Color and write sixteen
; average number hundredths as a decimal and
Miss James 22 | of students fraction.

Mrs. Glazier 31 in a class? ;
Mrs. Garcia 29
Mr. O'Neil 16 ;
Total 130 i
What fraction? What fraction? Reduce this Compare.
» | improper fraction.  Use >, <, or =.

Ll T (3 l

1

10
Thirty-two people were waiting in line to
tour the old castle with a guide.
Brenda was nineteenth.
How many were in front of her?
How many were behind her?
4 7
5 438
1 5
- 10 -18

Is the dark line a radius, diameter, or circumference? Label each.

A. B. C. D.

Tell the volume of each box. Circle the one that would hold the most popcorn.

5in 5in
pPoOP I E——— .
Py rorconn| | - 2in
3in 6in_ 2N 8 Zin
47n i in
Give the length in centimeters and millimeters. -

IIII]IHI,IIII]IlH]IIII]HIllHH]IIII]HH[IIII]IIHIIIII]IIIl[llll[llll]lIIIIIHI]HIIIIIH]IIH[IIHIIIH]IlIl]IIH,IIII]HII]HH]HH]III
cm 1 8 11 12 13 14

AT S BTN D T L I TR B T4 95 L8 g1

© 1998 Marv Jo Hand
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" NAME

54+7= ,:

DROPS IN 'E‘HEEJ BUCKET - MarH LEVEL B NUMBER 29
_SCORE _ ___
| 3 0= 0 x C odeee b 4+8=i2
B4=_ x0 = 4+4=] B+3=")
: B 21="1 x2 49 +7="] ‘

o
'35.5 miles
87.9 miles

2. 78)9142

I - 7,301
+ /6.2 miles & >
5 ‘What is the Color and write sixteen
Mr. Smith 532 | average number hundredths as adecimal and
Miss James 22 | f styudents fraction.

Mrs. Glazier 31

in a class?
Mrs. Garcia 29 5 f

Mr. O'Neil 16
Total 130 2 NN
What fraction? What fraction? Reduce this Compatre.
: improper fraction. Use >, <, or =.
e @ =
o1

Thlrty -two people were wamng inlineto  "7.ud

tour the old castle with a guide. ,
Bienda was hineteenth. C g S e
How many were in front of her? * = « |
How many were behind her?
3 4 7
4 Be 43
1 1 5
+ 4 - 10 18 I +
£ /; (;/ 3

a ’,: i
{" o\ g -7y o K .
L MWy g
" A% { ] R R

L D.

g q J".,.Ei "o

Tell the volume‘of each rbox. Circle the one thgt Wi

ould hold the most popcorn.

5in lSxek= 5in § el R Y &
POP et E—— Y
e 2 ropeomN 51 '| popcorn 21
_L3jn WP 6in m 8in _ 4in
4in
Give the length in centimeters and millimeters. = ap o0 1

HII]IHIIHII|IlHlHH]IHlllIII[IHI]IHI]HH]IHHIIIIIIIIIIHIIIIHI]IIH,IllIHIH'HH]IHIIIIH]IIﬂ]llHllIH‘HlI[ﬂﬂTﬂTT[ﬂﬂT”ﬂﬂTW

cm 1 2

0 11 12 13







